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GENERAL INSTRUCTIONS IN EXAMINATION HALL 
A. General : 
1. This Question Paper contains 25 questions. Please check before 

starting to attempt. The question paper consists one Section. In 
Section, 4 parts, Physics (1 to 5), Chemistry (6 to 10), Biology (11 to 
20) and Mental Ability (21 to 25). 

v- lkekU; % 

1. bl iz'u&i=k esa 25 iz'u gSa] Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA 

bl iz'u&i=k esa ,d [k.M gSA [k.M esa] pkj Hkkx bl izdkj gSa&HkkSfrd 

foKku (1 ls 5), jlk;u foKku (6 ls 10), tho foKku (11 ls 20) 
rFkk ekufld ;kSX;rk (21 ls 25) 

2. Space is provided within question paper for rough work hence no 
additional sheets will be provided. 

2. jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k x;k gS vr% 

vfrfjDr :i ls dksbZ 'khV ;k isij ugha fn;k tk,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular phones and 
electronic gadgets in any form are not allowed inside the 
examination hall. 

3. [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] dsYdqysVj] lsy Qksu ,oa fdlh 

Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA 

4. The answer sheet, a machine-gradable Objective Response 
Sheet (ORS), is provided separately. 

4. mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu }kjk 

tk¡ph tk,xh] vyx ls iznku dh xbZ gSA 
5. Do not Tamper / mutilate the ORS or this booklet. 5. vks-vkj-,l- ;k iz'u&i=k dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA 

6. Do not break the seal of the question-paper booklet before 
instructed to do so by the invigilators. 

6. iz'u&i=k dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk funsZ'k 

ugha fn, tk,saA 

7. SUBMIT the ORS to the invigilator after completing the test & take 
away the test paper with you. 

7. ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk 

iz'u&i=k vius lkFk ys tk,saA 

8. Any student found/reported using unfair means to improve his/her 
performance in the test, shall be disqualified from STaRT. 

8. ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx 

djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og  

STaRT ds fy, v;ksX; gksxkA 
B.  How to fill Objective Response Sheet (ORS) for filling details 

marking answers: 
9. Use only HB Pencil for filling the ORS. Do not use Gel/Ink/Felt pen 

as it might smudge the ORS. 

c- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr djus 

ds fy, fuEu izdkj Hkjsa % 

9. vks-vkj-,l- Hkjus ds fy, dsoy HB isafly dk gh iz;ksx djsaA 

tsy@L;kgh@QsYV isu iz;ksx ugha djsaA 
10. Write your STaRT Student Registration No. in the boxes given at 

the top left corner of your ORS with blue/black ball point pen. Also, 
darken the corresponding bubbles with HB Pencil only. 

10. viuk STaRT fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa dksus esa 

fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds vuqlkj 

uhps fn, x;s xksyksa dks Hkh HB isafly ls xgjk djsaA 
11. If any student does not fill his/her STaRT Student Registration No. 

correctly and properly, then his/her ORS will not be 
checked/evaluated. 

11. ;fn dksbZ fo|kFkhZ viuk STaRT fo|kFkhZ jftLVªs'ku Øekad lgh ,oa 

Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks pSd@ewY;kafdr ugha 

fd;k tk,xkA 
12. Since it is not possible to erase and correct pen filled bubble, you 

are advised to be extremely careful while darken the bubble 
corresponding to your answer. 

12. vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk fd;k 

tkrk gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh lrdZrk ls gh 

xksyksa dks xgjk djsaA 
13. Neither try to erase / rub / scratch the option nor make the Cross 

(X) mark on the option once filled. Do not scribble, smudge, cut, 
tear, or wrinkle the ORS. Do not put any stray marks or whitener 
anywhere on the ORS. 

13. ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k   

[kqjpus dk iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds /kCcs] 

xUnxh ;k flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA 

14. If there is any discrepancy between the written data and the 
bubbled data in your ORS, the bubbled data will be taken as final. 

14. ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k 

x;k rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA 
C. Question paper format and Marking scheme : 
15. SECTION: For each right answer you will be awarded 4 marks if 

you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus one (–1) mark will be awarded. 

l- iz'u&i=k izk:i ,oa vad iznku fu;e %  

15. [k.M% izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk 

fd;k x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼–1½ vad dkVk 

tk,xkA ;fn fdlh xksys dks xgjk ugha fd;k x;k rks 'kwU; vad fn;k 

tk,xkA 

 
Best of Luck 

 ®  
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

PART - I (PHYSICS) Hkkx - I ¼HkkSfrd foKku½ 

Straight Objective Type  
This section contains (1-5) single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (1-5) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 

 

1. Five particles each of mass 1kg are attached to the rim of a circular disc of radius 1 m &  mass 2 Kg. 
Moment of inertia of the system about the axis passing through the centre of the disc & perpendicular to 
its plane is  

 1 fdxzk nzO;eku ds 5 d.k 1 ehVj f=kT;k ,oa 2 Kg nzO;eku dh ,d o‘Ùkh; pdrh dh ifjf/k ls tqMs gSA blds ry ds 

yEcor~ ,oa dsUnz ls gksdj xqtjus okyh v{k ds ifjr% bl fudk; dk tM+Ro vk?kw.kZ gSA 

     

 
1 kg

30º 

1 kg

1 kg1 kg

1 kg

  
 (A) 5 kg – m2    (B) 6 kg - m2     (C) 7 kg - m2     (D) 8 kg - m2  
 
2. Four particles have velocities 1, 0, 2, 3 m/s. The root mean square velocity of the particles is: (in m/s)  
 pkj d.kksa ds osx 1, 0, 2, 3 m/s gSA d.kksa dk oxZ ek/; ewy osx (in m/s) gS %  

 (A) 3.5   (B) 3.5   (C) 1.5   (D)   
14
3  

3. Two simple harmonic motions of angular frequency 100 and 1000 rad s–1 have the same displacement 
amplitude. The ratio of their maximum acceleration is :   

 (A) 1 : 10  (B) 1 : 102  (C) 1 : 103  (D) 10 : 104 

 nks ljy vkorZ xfr;ka tks 100 rFkk 1000 rad s–1 dh dks.kh; vkof̀Ùk;k¡ j[krh gSA leku foLFkkiu vk;ke j[krh gSaA 

muds vf/kdre Roj.kksa dk vuqikr gksxk &     

 (A) 1 : 10  (B) 1 : 102  (C) 1 : 103  (D) 10 : 104 
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4. For a cubical block, error in measurement of sides is + 1% and error in measurement of mass is + 2%, 

then maximum possible error in density is - 

 ?kukdkj CykWd esa Hkqtkvksa ds ekiu esa =kqfV + 1% gS] vkSj nzO;eku ekiu esa =kqfV + 2% gS rks ?kuRo ekiu esa vf/kdre 

lEHko =kqfV fdruh gksxh &  

 (A) 1%   (B) 5%   (C) 3%   (D) 7% 

 
5. To hear the echo in 1 second, the minimum distance of the source from the reflecting surface should be 

(velocity of sound = 330 m/s): 

 /ofu dh izfr/ofu 1 lsd.M esa lquus ds fy, ijkorZd i`"B ls U;wure nwjh gksxh (/ofu dh xfr = 330 m/s)A   

 (A) 28 m  (B) 18 m   (C) 19 m  (D) 165 m  

 

PART - II (CHEMISTRY) Hkkx - II ¼jlk;u foKku½ 

Straight Objective Type  
This section contains (6-10) single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (6-10) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 

gSA 
 

6. In the crystal structure of solid AB, atom 'A' constitute 'fcc' unit cell and atoms 'B' occupy all the 
octahedral voids in it. If all atoms aong one of the tetrad be removed then the formula of the compound 
will be :        

 AB Bksl dh fØLVyh; lajpuk esa ijek.kq 'A'  'fcc' bdkbZ dksf"Bdk esa O;ofLFkr gS rFkk ijek.kq 'B' bldh lHkh 

v"VQydh; fjfDr;ksa dks Hkjrk gSA ;fn ,d prq"d ds vuqfn'k lHkh ijek.kqvksa dks gVk fn;k tk, rc ;kSfxd dk lw=k 

gksxk & 
 (A) AB      (B) A2B    
 (C) A3B4     (D) None of these (buesa ls dksbZ ugha) 
 
7. The coagulation of 200 mL of a positive sol took place in 2 hours, when 0.73 g HCl was added to it. 

Thus, the coagulation value of HCl for the colloid is : 
 200 mL /kukRed lksy dk Ldanu 2 ?k.Vs esa gksrk gS] tc blesa 0.73 g HCl feyk;k tkrk gSA blfy, dksykWbM ds 

fy, HCl dk Ldanu eku gS &  
 (A) 10   (B) 200   (C) 50   (D) 100 
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8. Select the incorrect statement :        

 (A) Calamine and siderite are carbonates. (B) Argentite and cuprites are oxides. 

 (C) Zinc blende and  iron-pyrite are sulphides. (D) Malachite and azurite are ores of Cu.  

 xyr dFku dk p;u dhft,&      

 (A) dSysekbu rFkk flMsjkbV dkcksZusV gSA   (B) vtsZUVkbV rFkk D;wizkbV vkWDlkbM gSA  

 (C) ftad CySaM rFkk vk;ju ikbjkbV lYQkbM gSA  (D) eSysdkbV rFkk ,tqjkbV Cu ds v;Ld gSA  

 
9. Which comparison is not correct as indicated ?   

 fuEu esa ls n'kkZ;h xbZ dkSulh rqyuk lgh ugha gS \ 

 (A) 
 

OH > CH3OH (acidic nature)  ¼vEyh; izd̀fr½ 

 (B) 
 

NH2 > CH3NH2 (basic nature) ¼{kkjh; izdf̀r½ 

 (C) 
 

CH2 > CH3CH2 (Stability)  
 

¼LFkkf;Ro½ 

 (D) 

 

COH > CH3COH (acidic nature) 

O O 

¼vEyh; izd̀fr½ 

 
10. Give the correct order of increasing acidity of the following compounds   

 fuEu ;kSfxdksa ds c<+rh vEyh; izd̀fr dk lgh Øe dkSulk gS \ 

 (I) 
 

OH  (II) 
 

OH  (III) 
 

COOH  (IV) 
 

CCH  

 (A) II < I < IV < III (B) IV < II < I < III (C) I < II < IV < III (D) IV < I < II < III 
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PART - III (MATHEMATICS) Hkkx - III ¼xf.kr½  

 

Straight Objective Type  
This section contains (11-20) single choice questions. Each question has 4 choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (11-20) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 
 

 

11.  Which of the following is incorrect about Geitonogamy and Xenogamy.   
 (A)  Xenogamy is genetically as well as ecologically cross pollination. 
 (B)  Geitonogamy is genetically self-pollination and ecologically cross pollination.   
 (C)  Geitonogamy maintains pure lines in plants while Xenogamy increases the possibility to 

 increase hybrid vigour.   
 (D)  Chasmogamous flowers are not required for Geitonogamy but required for Xenogamy. 
 ltkrh; iq"i ijkx.k (fxVksuksxseh) rFkk thuksxseh ds ckjs esa fuEu esa ls dkSulk vlR; gSA  

 (A)  thuksxseh vkuqokaf'kd :i ls rFkk ikfjfLFkfrdh :i ls ijijkx.k gSA  

 (B)  ltkrh;iq"i ijkx.k vkuqokaf'kd :i ls Loijkx.k rFkk ikfjfLFkfrdh; :i ls ijijkx.k gksrk gSaA  

 (C)  ltkrh; iq"i ijkx.k ikniksa esa 'kq) oa'kØe dks cuk, j[krk gSA tcfd thuksxseh ladj vkst esa of̀) dh 

 laHkkouk c<+k nsrh gSaA  

 (D)  ltkrh; iq"i ijkx.k eas mUewyh; iq"i vko';d ugha gSaA ysfdu thuksxseh ds fy, vko';d gSaA  

 
12.  How many generative cells are required for the formation of 64 male gametes.  
 (A) 128   (B) 64   (C) 32   (D) 16 
 64 uj ;qXedks ds fuekZ.k ds fy;s fdruh tuu dksf'kdkvksa dh vko';drk gksrh gS &  

 (A) 128   (B) 64   (C) 32   (D) 16 
 
13.  Which of the following is incorrect match? 
 (A) Thyroxine - Tetraiodothyronine  (B) Oxytocin - Steroid hormone 
 (C) Estrogen - Steroid hormone   (D) Prolactin - Protein hormone 
 fuEu es ls dkSulk xyr feyku gSA 

 (A) Fkk;jkWDlhu - VsVªkvk;ksMksFkk;jksuhu   (B) vkWDlhVksflu -LVhjkWbM gkWeksZu 

 (C) ,LVªkstu - LVhjkWbM gkWeksZu   (D) izksysfDVu - izksVhu gkWeksZu 
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14.  In male mammals, Excretory and Reproductive system share 

 a. Testes     b. Vas deferens 

 c. Urethra     d. Prostate 

 e. Seminal vesicle 

 (A) Only c   (B) c & d  (C) b, c, d & e  (D) a, b, c, d & e 

 uj Lrfu;ksa esa] mRlthZ ,oa iztuu ra=k ck¡Vrs gS 

 a. o`"k.k       b. 'kqØokgd  

 c. ew=k okfguh      d. iks:"k xzafFk  

 e. 'kqØk'k;  

 (A) dsoy c   (B) c rFkk d  (C) b, c, d rFkk e  (D) a, b, c, d rFkk e 

 

15. When domestic sewage mixes with river water      

 (A) Small animals like rats will die after drinking water      

 (B) The increased microbial activity release micronutrients such as iron   

 (C) The increased microbial activity uses up dissolves oxygen  

 (D) The river water is still suitable for drinking as impurities are only about 0.1%  

 fuEu esa ls okfgr ey unh ds ty ds lkFk feyrk gS] rks 

 (A) NksVs tUrq tSls pwgs] ty ihdj ej tk;saxsA      

 (B) vkf/kd lw{etSoh; fØ;k'khyrk] yksg tSls lw{e rRo eqDr djrh gSA   

 (C) vkf/kd lw{etSoh; fØ;k'khyrk] ?kqfyr vkWDlhtu dk miHkksx dj ysrh gSA  

 (D) unh dk ty vHkh Hkh ihus ds fy, mfpr gS] D;ksafd v'kqf);k¡ dsoy yxHkx 0.1% gksrh gSA  

 
16. The Finches of Galapagos is lands provide an evidence in favour of   

 (A) Biogeographical evolution   (B) Special creation 

 (C) Lamarkism     (D) Retrogessive evolution 

 xsykisxksl }hiksa dh fQUpsa fdlds i{k esa ,d izek.k miyC/k djkrh gS\  

 (A) tSoHkkSxksfyd fodkl  (B) fo'ks"k mRifÙk  (C) ysekdZokn  (D) âkldkjh fodkl 
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17. Which of the following is not a Hot spot in india      

 (A) Western ghat  (B) Himalayan region  (C) Indo-Berma  (D) Eastern ghat 

 fuEu eas ls dkSulk Hkkjr esa  ,d rIr LFky ;k gkWV LikWV ugha gS 

 (A) if'pe ?kkV   (B) fgeky;   (C) b.Mks-cekZ  (D) iwohZ ?kkV 

 

18.  Inflammation involves release of- 

 (A) Histamine from damaged mast cells  (B) Serotonin from damaged fibroblast cells 

 (C) Serotonin, which cause vasodilation  (D) Histamine, which cause vasoconstriction 

 iznkg esa fdldk foekspu 'kkfey gksrk gS  

 (A) {kfrxzLr ekLV dksf'kdkvksa ls fgLVkehu dk 

 (B) {kfrxzzLr QkbczksCykLV dksf'kdkvksa ls lsjksVksfuu dk  

 (C) lsjksVksfuu] dk ftlds dkj.k okfguh foLrkj.k gksrk gSA 

 (D) fgLVkehu dk] ftlds dkj.k okfguh ladqpu gksrk gS 

  

19.   Coconut water contains         

 (A)  ABA  (B) Auxin    (C) Cytokinin    (D) Gibberellin   

 ukfj;y ds ikuh esa feyrk gSa &   

 (A)  ABA  (B) vkWfDtu    (C) lkbVksdkbfuu   (D) ftOcsjyhu     

 

20. How much assimilatory power is required for the formation of 5 Glucose molecules in photosynthesis? 

 izdk'k la'ys"k.k esa 5 Xywdkst v.kqvksa ds fuekZ.k ds fy, fdruh Lokaxhdj.k {kerk dh vko';;drk gksrh gSa ? 

 (A) 18 ATP & 12 NADPH       (B) 12 ATP & 18 NADPH  

 (C) 90 ATP & 60 NADPH        (D) 60 ATP  &  90 NADPH 
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PART - IV (MENTAL ABILITY) Hkkx - IV ¼ekufld ;ksX;rk½ 

Straight Objective Type  
This section contains (21-25) single choice questions. Each question has choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (21-25) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 

gSA 

 

Direction (21 to 23) Find the mising term. 
funsZ'k (21 ls 23) % yqIr in Kkr djsaA 
21. 1, 2, 5, 16, 65,  ? 
 (A) 326   (B) 394   (C) 343   (D) 347 
 

22. PQ  33 27 MN 
 CL 15 12 DH 
 SB ? ? RP 
 (A) 23, 18  (B) 17, 23  (C) 21, 34  (D) 9, 29 
 

23. 
 

7 
3 4 

5 

1 
7 8 

5 
64 
27 

1 
? 

 

 (A) 125   (B) 216   (C) 121   (D) 225 
 

24. If SOON is coded as 27 and PUK is coded as 12, how would you code BLUE in the same code  
languagee? 

 ;fn SOON dks 27 vk Sj PUK dks 12 ls dksM+ fd;k tkrk g S rk s mlh Hkk"kk es a BLUE dks fdl fdlls 

dk sM + fd;k tk; sxk \ 
 (A) 15   (B) 16   (C) 13   (D) None of these 
                bues a ls dk sb Z ugh a 
 

25. 6 men P, Q, R, S, T and U sat around a circular table. P is opposite to R. T is not between P and Q. Q 
is immediate right of R and U is opposite to T. Who sat immeidiate left of R ? 

 6 vkneh P, Q, R, S, T vkSj U ,d o`Rkkdkj est ds vkl ikl cSBs gq, gSA P, R ds foijhr gSA T, P rFkk Q ds chp 

esa ugha gSaA Q, R ds rqjar nk;sa gS rFkk U, T ds foijhr gSA R ds fudVre ck;sa dkSu cSBk gS” \ 
 (A) S   (B) T   (C) U   (D) None (dksb Z ugh a) 
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Space for Rough Work (dPps dk;Z ds fy, LFkku) 

 

ANSWER KEY  Sample Test Paper  Stream : Science-Maths 
  
1. (B) 2. (B) 3. (B) 4. (B) 5. (D) 6. (A) 7. (D) 

8. (B) 9. (B) 10. (B) 11.  (D)  12. (C) 13.  (B) 14.  (A) 

15. (C) 16. (A) 17. (D) 18.  (A) 19.   (C) 20. (C) 21. (A) 

22. (C) 23. (B) 24. (D) 25. (B) 

 

 

 



 

    

 


